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Questions must be answered with a cross in a box X. If you change your mind about an answer,

SECTION A

Answer ALL questions in this section.

put a line through the box 2¢ and then mark your new answer with a cross [X.

1 800000 students graduated from universities in the UK in 2019. 380000 of these
started work in jobs that did not require a degree.

Which one of the following describes this situation?

— ] A Underemployment
— [ B Unemployment
— [] € Real wage inflexibility
— [J D Economic inactivity
(Total for Question 1 = 1 mark)
2 Brazil’s annual rate of inflation between April 2019 and August 2019 is shown in
the table.
Month Rate of inflation
(%)

April 4.94

May 4.66

June 3.37

July 3.22

August 343

Which one of the following can be deduced from the table?
— [J A There was deflation between April and July
— [J B The average price level was highest in April
— [] € There was disinflation between April and July
— [ D The rate of inflation was lowest in August
(Total for Question 2 = 1 mark)
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3 South Africa’s annual government expenditure as a proportion of GDP increased from
31.4% to 34.6% between 2012 and 2019.

Which one of the following is most likely to have contributed to this increase in
government expenditure as a proportion of GDP?

[J A Lower welfare payments —
[J B Alowerexchange rate —
[J € Lesseconomic activity —
[J D Increased business confidence —
(Total for Question 3 = 1 mark)
4 The diagram shows an economy’s actual growth rate and trend growth rate.
Trend growth rate
Real
GDP
Actual growth rate
w
u v
Time
Which one of the following can be deduced from the diagram?
[ A The economy is in recovery between points U and V —
[J B A positive output gap exists at point V —
[J € Unemployment is rising between points W and X —
[ D A positive output gap exists at point X —
(Total for Question 4 = 1 mark)
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In Japan, private sector investment increased by 1.9% in the second quarter of 2019.

Which one of the following was the most likely cause of this increase in investment?

N

(|
(|
(|

A

B
C
D

A decrease in the rate of economic growth
An increase in indirect taxation
An increase in the tax on company profits

A decrease in interest rates

(Total for Question 5 = 1 mark)

In Denmark the marginal propensity to consume is estimated to be 0.49.

Based on this estimate, which one of the following is the value of the multiplier
for Denmark?

o N W >

0.51
1.96
2.04

4.90

(Total for Question 6 = 1 mark)
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SECTIONB
Answer ALL questions in this section in the space provided.
7 The French Government is to offer €5 billion in tax relief for business investment.

Explain one likely economic effect of this investment tax relief.

(Total for Question 7 = 4 marks)
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8 In the first quarter of 2019 average house prices decreased by 15% in real terms
in Sydney, Australia.

Explain one possible impact of this change in house prices on the level of
consumption.

(Total for Question 8 = 4 marks)
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9 In January 2016 the world price of oil was $29.78 per barrel. By May 2019 this had
increased to $66.83 per barrel. Saudi Arabia is a net exporter of oil.

Draw a diagram showing the change in AD for Saudi Arabia’s economy following the
increase in the price of oil. Show the effect on the price level and real output.

(Total for Question 9 = 4 marks)
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10 The data shows the quarterly percentage growth of real GDP for Belgium between
Q12019 and Q4 2019.

Quarter %
Q1 0.0
Q2 0.3
Q3 0.4
Q4 0.4

With reference to the overall trend of the data, explain what is meant by the term
‘growth of real GDP".

(Total for Question 10 = 4 marks)
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11 The table shows values for components of the US economy in 2018.

Component $ trillion

Consumption 13.95

Investment 3.65

Savings by households 1.25

Government expenditure 3.52

Tax revenue 3.64

DONOTWRITE INTHISAREA =~

Exports 2.50

Imports 3.10

Ceteris paribus, calculate the aggregate demand for the USA in 2018.
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(Total for Question 11 = 4 marks)
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SECTION C

Study Figures 1 and 2 and Extracts A and B in the Source Booklet before answering Question 12.

Write your answers in the space provided on the following pages.

12 (a) Define the term ‘monetary policy’ (Extract A, line 8)
(b) With reference to Extract A, explain the term ‘foreign direct investment’.

(c) With reference to Figure 1 and Extract A, examine two likely impacts of the annual
GDP growth rates on the people living in East African countries.

(d) With reference to Figure 2, analyse one macroeconomic effect of the change in
the current account balance as a percentage of GDP on East African economies.

(e) With reference to Extract A and Extract B, discuss the likely effects of
interventionist supply-side policies on East African economies.
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12 (a) Define the term ‘monetary policy’ (Extract A, line 8)
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(c) With reference to Figure 1 and Extract A, examine two likely impacts of the annual
GDP growth rates on the people living in East African countries.
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(d) With reference to Figure 2, analyse one macroeconomic effect of the change in
the current account balance as a percentage of GDP on East African economies.
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(e) With reference to Extract A and Extract B, discuss the likely effects of
interventionist supply-side policies on East African economies.
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(Total for Question 12 = 34 marks)

SIS
Q..

TOTAL FOR SECTION C = 34 MARKS

) R AR08 0 T O
P 6 5 8 3 3. A0 1 8 2 8

Lk
XRET

NO

ML

s

5

3
24

\'\/7 y

22 2
500
0
Soms

S

=
%%

S
PLOOET pies
ST

3

ale%
2
S
i
SELX

X,

&
ot
2%




BLANK PAGE

RRRRRRX
K
""V 2

SECTION D BEGINS ON THE NEXT PAGE.

R RIS

19

VD A RO 0 O 0 0 —
Turn over »
P 6 5 8 3 3 A 0 1 9 2 8 urnove



SECTIOND
Answer ONE question from this section.
Write your answer in the space provided.
EITHER

13 In 2019 the new President of the European Central Bank asked governments
of eurozone countries to cut taxation and increase government expenditure to
stimulate the rate of economic growth.

Evaluate fiscal policy instruments as a means of increasing the rate of economic
growth.

(Total for Question 13 = 20 marks)

OR

14 In quarter 1 2019 the unemployment rate in South Africa was 27.6%. In quarter 2 it
increased to 29%. An additional 455 000 workers became unemployed.

Evaluate the likely impact of an increase in the unemployment rate on workers, public
finances and resource utilisation.

(Total for Question 14 = 20 marks)
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Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.

Chosen question number: Question 13 [] Question 14 []

Write your answer here:
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